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Mon 7th 
N-S
1st
Ivy & Dinnie
61%
2nd
Bob P & Robbie
58%

E-W
1st
Sean & Jeremy
63%
2nd
Bob S & Lars G
59%

Wed 9th  
N-S
1st
Ivy & Robbie
61%
2nd
Bob S & Paul Q
60%

E-W
1st
Paul Sc & Guttorm
65%
2nd
Per And... & Sigurd
57%

Fri 11th   

1st
Sigurd & Janne
57%
2nd
Richard M & Ian W
56%

Bidding Quiz

Standard American bidding is assumed unless otherwise stated.
Hand A
Hand B
With Hand A RHO opens 1NT, what do you do?
♠ AQ
♠ AQ852


♥ Q1095
♥ AJ10
With hand B you open 2♣ and partner bids 2♦. What do 
♦ QJ
♦ AK
you rebid - 2♠ or 2NT?
♣ AKJ102
♣ A84
 

Bidding Sequence Quiz

C
2♣
pass
2♦
pass

You (opener) are playing with an inexperienced player

2♠
pass
4NT
pass

and so 4NT is ordinary Blackwood, not RKCB.

?




You have four aces, what do you bid?
Current club championship standings
	
	Gold Cup = Best 30
	Silver Plate = Best 10
	Bronze Medal = Best 5

	1

2

3

4

5

6

7

8

9

10
	
	624.4 Per Andersson
619.3 Hans Vikman
610.3 Janne Roos
601.5 Paul Quodomine
599.2 Bob Short
594.8 Lars Broman
588.7 Paul Scully
587.4 Sean Burgess
583.5 Tomas Wikman
576.5 Gerard Hardy
	326.1 Per Andersson
323.2 Hans Vikman
314.5 Bob Short
313.0 Janne Roos
310.2 Paul Quodomine
309.7 Jeremy Watson
309.6 Paul Scully
309.3 Bengt Malmgren
308.3 Sean Burgess
307.5 Lars Broman


Dave’s Column
West
East
West

North
East

South
♠ 876
♠ 95
-

1♠

2♥

2♠
♥ KQ
♥ AJ10976
4♥

all pass
♦ AQ652
♦ 84


♣ J83
♣ AQ9
 

You are East, declarer in 4♥. South leads the ♠K, ♠Q and ♠10 to North’s ♠A which you ruff. You have lost two ticks and have issues in both minor suits. You draws trumps in three rounds, finding North with three, what do you do now?
Dave’s Column Answer



Board 9 from Wednesday 9th March
Dealer:
♠ AJ432



Book Bidding
North
♥ 543

West

North
East

South
E-W vul 
♦ KJ9

-


1♠

2♥

2♠

♣ K5


4♥

all pass
♠ 876
N
♠ 95


♥ KQ
W
E
♥ AJ10976

♦ AQ652
S
♦ 84


♣ J83


♣ AQ9
South leads the ♠K, ♠Q and ♠10 to North’s ♠A

♠ KQ10

 
which East ruffs. East has lost two ticks and has
♥ 82


issues in both minor suits. East draws trumps in
♦ 1073
 

three rounds, finding North with three.
♣ 107642

 
What now?
East should do some thinking. N-S have a combined 17 points and as South has already turned up with five of them then North must have both minor suit kings to justify his opening bid.
There are various things East can do. Here is an easy one. Lead a low ♦ and play low from dummy regardless of what South plays. Assume North wins and continues ♠’s.
Do you see what is about to happen? Trump the ♠ and lead your remaining ♦ to the ♦A. If North has the doubleton ♦K it falls and you have a discard for one ♣ and a finesse to take at the end. If the ♦K does not fall, it means that North has one or two ♣’s, one of which is the ♣K. You can finesse the ♣Q and your ♣A will drop the ♣K.

You may wish to look for other play on this hand. You can probably find an endplay.

And what happened at the Pattaya bridge club? Nobody found this play or any other to make 10 tricks.

Dave’s  2nd Column



North
South
West

North
East

South
♠ A9865
♠ KJ1073
-

-

-

1♠
♥ 72
♥ AK

pass

2NT
(1)
pass

6♠

♦ AQ3
♦ 54
all pass
♣ Q54
♣ AKJ10
(1) Jacoby 2NT

West leads the ♥Q and you win in hand with the ♥A. How do you continue?

Dave’s 2nd Column Answer

Board 8 from Wednesday 2nd March
Dealer:
♠ A9865



Book bidding
South
♥ 72

West

North
East

South
Both vul 
♦ AQ3

-


-

-

1♠

♣ Q54


pass

2NT
(1)
pass

6♠
(2)
all pass
♠ Q42
N
♠ -


♥ QJ1065
W
E
♥ 9843


♦ 986
S
♦ KJ1072
(1)
Jacoby 2NT

♣ 73


♣ 9862
(2)
3♠, showing a good hand and no shortage, is

♠ KJ1073

 

the normal response here.
♥ AK

 

♦ 54
 

♣ AKJ10



West leads the ♥Q and you win in hand with the ♥A. How do you continue?
If you can avoid a ♠ loser, it does not matter what happens in ♦’s. The first time the hand was played, declarer played a ♠ to dummy’s ♠A at trick two and so South now needed the ♦ finesse and went down.
The correct play is to start with the ♠K from hand. Here you are successfully playing for an overtrick. But suppose West discards. You then play dummy’s ♠A at trick three, cash the ♥K and run the ♣’s, discarding the ♦3 from dummy. If East ruffs, he is immediately endplayed. If he does not ruff you throw him in with a trump. He must either lead a ♦ into dummy’s ♦AQ or play a ♥ giving you a ruff and discard.
And what happened at the Pattaya bridge club? Nobody found this play, it seems that everybody played a ♠ to the ♠A at trick two; 6♠-1 five times, 4♠+1 once.
The bottom lines:

Assume the worst and try to find a play that will still always work.
What rebid after opening 2♣?



Board 11 from Wednesday 9th March

Dealer:
♠ KJ64



Table A
South
♥ KQ8

West

North
East

South(B)
Love all 
♦ J76

-

-

-

2♣

♣ 1097


pass

2♦

pass

2♠
(1)
pass


4NT
(2)
pass

5NT
(3)
♠ 107

N
♠ 93

pass


7NT
(4)
♥ 942
W
E
♥ 7653


♦ Q982
S

♦ 10543

Table B
♣ KQ63


♣ J52


West
North
East

South(B)

♠ AQ852

 
-


-

-

2♣
♥ AJ10




pass

2♦

pass

2NT
(1)
♦ AK


pass


3♣
(5)
pass

3♠
♣ A84




pass

4NT
(6)
pass

5♦
(7)

pass

5♥
(8)
pass

6♦
(9)
pass

6♠

all pass
Table A:
(1)
What did you rebid with this South hand B in this week’s quiz? This hand (and ♠ suit) are nowhere near good enough for a 2♠ rebid.

(2)
Normal Blackwood, this pair do not play RKCB.

(3)
Unfortunately this South did not know the response with four aces, he counted up on his fingers and emerged with 5NT.

(4)
Now with no way to ask for kings, and expecting a better hand opposite, North simply bid the grand.

Table B:
(1)
This is the correct rebid in answer to question B, a balanced 22-24. 

(5)
Stayman

(6)
RKCB

(7)
(1 or) 4 keycards

(8)
do you have the trump queen?

(9)
yes, and the ♦K but not the ♣K

And what happened? Two bid a grand slam which is clearly over the top. 6♠ is a very reasonable spot but unfortunately the wasted ♥ values and shape duplication means that it has no chance and goes down. Two pairs managed to stop in 5♠, I cannot imagine how as they obviously made a try and all of the keycards and trump queen are present.

The bottom lines:

· If you play normal Blackwood, then a 5♣ response shows 0 or 4 aces.

· With RKCB, after a 5♣/♦ response, then 5 of the next suit (skip the trump suit) asks for the trump queen. The best replies are a return to the trump suit denies the trump queen, a suit bid acknowledges the trump queen and shows the king of the suit bid, and a 5NT bid shows the trump queen and denies any king. 
Bidding Quiz Answers
Hand A:
Double? This was the popular choice with North hand 2 from Wednesday. But I passed. The reasoning? You have so many points that you know that partner (or LHO) will pull the double, probably to 2♦ or 2♠, and what will you do then? Would you prefer to play in 3♣ or maybe defend 1NT? I prefer the latter and so I passed and collected the penalty for two down; this turned out exactly average with six different results. I personally prefer a double of 1NT to be 15-17 and not any more unless you have a good spot to play in after somebody bids.
Hand B:
2NT, non-forcing and showing a balanced 22-24. 2♠ here would show a better hand and a much better/longer ♠ suit. 

Bidding Sequence Quiz
C
2♣
pass
2♦
pass

5♣ shows 0 or 4 aces in standard Blackwood. This then


2♠
pass
4NT
pass

allows partner to bid 5NT to ask for kings, which is 

?




presumably what he really wants to know if he has no aces.
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